LISTENING PHACTIGE
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FOR SENIOR ENGLISH
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1. A. John can’t speak English at all.
B. John can’t speak English well.
C. John speaks English perfectly.

2. A, Professor Wilson studies hard.
B. The lessons are hard.

C. They study very hard, d

3. A. Peter will go to the lab if he doesn’t have to work. 1
B. Peter will go to the lab after he works. .
C. Peter will go to the lab if he works,

4, A, Betty stays home if it rains,

B. It rains whenever Betty stays home,
C. Betty drives to work if it rdins.
5. A. We went on the picnic because the weather was so nice,
B. We didn't go for a picnic because of the weather,
C. We didn’t go on the picnic because of the rain,
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6. Where does the dialogue happen?

A. In the street. B. In the shop. C. At the hospital.
7. When did the man get a check-up last time?
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A. One year ago. B. Five years ago.
C. Four years ago.
8. Which of the following is not caused by smoking according
to the woman?
A. Lung cancer, B. High blood pressure.
C. Heart disease.
9. Which of the following is not mentioned as a way to stop
smoking?
A. Take some candies. B. Have classes,
C. Take some medications.
10. What's the woman's suggestion to the man?

A. Try to get a check-up at least once a year.

! B. Quit smoking,
2 C. Both A and B.
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11. Which of the following statements is true according to the
new report?
A. Each day people should drink eight glasses of water.
B. People should drink when they feel thirsty.
C. People should drink two liters of water a day.
12. Where is the report from?
A. The Institute of Medicine. B. New York Times.
C. The magazine on medicine,
13. How much water should women get a day?
A. About two liters of water,

B. About three-point-seven liters of water.




C. About two-point-seven liters of water.
14. Which of the following can’t people get water from?
A. Fruit juices and milk. B. Coffee and tea.
C. Rice.
15. Which of the following statements about coffee is wrong?
A. Tt contains water as well as cafleine,
B. Drinking coffee will lead the body to lose too much water.

C. Drinking coffee will cause the body to expel more water.

V.7ExX, 558,

Appearance tall, 16  and smart

Favourite color 1

Hobbies - r-ce.tding and 18

Personalities helpful and 19

Achievements 20 in the teaching competition
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1. A. He found the book.
B. He saw the book this morning,
C. He didn't look for the book.
2. A. Jim hopes he will sell his first book.
B. Jim didn’t sell his first book.
C. Jim sold his first book.
3. A. The meeting will be at 7:30.
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B. The breakfast will be later.
C. There is going to be a meeting after breakfast,
4, A. Betty forgot to tell the student to stand by the door.
B. Betty forgot to stand by the door,
C. Betty forgot the student’s name.
5. A. The dog’s name is Peter.
B. The dog’s name is Steve.

C. Steve calls his dog Peter.
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6. What health club does the woman belong to?
A. Total Fitness. B. Athletic Express.
C. Follow Me,
7. Why doesn’t the man like the health club he belongs to?

A. There is not much equipment there.

B. People prefer to chat rather than work out.
C. The coaches there are not satisfying.
8. What does the woman choose to keep fit in the club?
A. Aerobics. B. Weight lifting.
C. Kickboxing,
9, What classes are not mentioned in the club the woman
belongs to?
A. Yoga, B. Kickboxing.
C. Swimming,
10. Which of the following is true according to the dialogue?
A. The man is satisfied with his club.

B. There is a little equipment in the club the woman
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belongs to.
C. The man and the woman will go to the club together,
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What is the passage about?

A. Mental problems.

B. How to get on well with classmates.

C. How to get on well with parents.

How did the boy in Xi’an deal with his problems?
A. He talked to his teachers.

B. He left his home without telling his parents,

C. He fought with the people who laughed at him.
What’s the problem with the girl in Shanghai?

A. She couldn’t sleep well.

B. She thought others always laughed at her.

C. She was very nervous in the exams,

According to the report from Jiefang Daily, how many
young students in Shanghai suffer from this kind of

problems?
A. 80%. B. 48%. C.18%.

Why won’t the students ask for help?

A. Because they don’t want to tell their secrets to others,
B. Because their parents are too busy to look after them.
C. Because doctors can’t help them with the problems.
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Mike's age He was 16  vears old.

What happened A 17  hit Mike one day.

Mike’s problem Maybe he would never 18  up.

Mike's 19 brought Cody to the hospital and
Result )
the 20  woke him up.
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1. Where are the two speakers?
A. In a shop. B. In a hospital.  C. At home.
2. How long will the boy be away from school?
A, It's uncertain. B. For two days. C. For a week.
3. What’s the man doing?
A. Watching TV, B. Turning down the TV.
C. Answering the phone,
4. Why is Jack away? )
A. He is looking after his mother at home,
B. He is on a Europe tour with his mother.
C. He is in Europe to visit his mother.

5. What does the man mean?
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A. Mr. Smith is kind.
B. The woman should not worry.,

C. He likes Mr. Smith,
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6. What's the weather like?

A. Cloudy and warm. B. Lovely and warm.

C. Fine but cold. .
7. Where are the speakers? 7

A. At the station. B, In a flat. C.In a park. .

8. What is the man doing in England?
A. Spending his holiday.
B. Practising his English.
C. Visiting a Greek family.
KT EAA.EESE 9,10 M,
9. Where does the woman live?
A. In a beautiful garden.
B. In a camp.
C. In the mountains,
10, Why does she live there?
A. Because there is no pollution,
B. Because there is a beautiful lake.
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C. Because there is a cabin.
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11. What's wrong with the two speakers?
A. They don’t have an engine.
B. Their tank is half full.
C. They run out of gas,
12, Where are they going?

A, To the seaport, B. To the railway station.

C. To the airport.
13. What should they do now?
A. Do nothing but wait. B. Find a policeman,
C. Telephone the nearest gas station.
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14. What is the man asking about?
A, The woman's last job.
B. Ideal Systems,
C. The woman’s work experience.
15. How many companies has the woman worked for?
AL 3. B. 2. C. 4.
16. Why did the woman leave Format?
A. She had a quarrel with her boss.
B. She needed a change.
C. The company closed down.

17. How many years-did the woman work for Ideal Systems?

A. Ten. B. Five. C. Two.
o5 10 B m A H 18 £ 20 4,

18. What destroyed Tokyo the second time in the 20th




century?

A. The pollution. B, The earthquake. C. The war.
19. What caused Tokyo to develop fast during the 1960s?

A. The Olympic Games.

B. The rapid growing population.

C. The world wars. >
20. What challenges is the government facing now?

A. Waste disposal and job problems.

B. Housing problems and pollution.

C. Polluiion and crimes.
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1. What are the two speakers talking about?

A. Hobbies. B. Musie. C. Plays.
2. Where is Mr. Jones now?
A. At home. B. At the health center.

C. At his office.

3. What do the two speakers think of Tom?
A. He gets nervous very easily.
B. He is not an experienced speaker.

C. He hasn’t prepared his speech well.
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4. Why was the woman so late?
A. Something went wrong with the bus.
B. She took somebody to hospital.
C. She didn't catch the bus.

5. What does the man mean?
A. He enjoys most types of sports games.
B. Basketball is his favorite sport.

C. He only plays basketball.
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6. What is the man doing? .

A. He is being interviewed.  B. He is making a flash.

C. He is playing computer games.
7. What do you think will happen after the conversation?

A. The woman will call Mr. Taylor.

B. The woman won't make the website,

C. The woman won't get in touch with Mr. Taylor.
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8. What is the woman. going to do?

A. Prepare lunch. B. Have a party,

C. Go to a friend’s house for dinner.

9. What does the woman still need?



A. A tie. B. Some flowers. C. Some candies.
10. What should one do when he goes to a friend’s house for
the first time according to the woman’s mother?
A, Take something. B. Get dressed up. C. Have dinner.
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11. How many times did the man call Mr. Jameson last week?
A, Once, B, Twice. C. Three times.
12. What does the man want Mr, Jameson to do?
A. To have dinner with him. B. To call him back.
C. To visit him.
13. What's the man’s telephone number?

A. 37460, B. 37640, C. 36470.
w9 gAH, MER 14 £ 17 M, g
14. What does the woman want to do? 1]

A. Rent a flat, B. Sell her house. C:Buy a house, .
15. How many people are there in the woman's family?

A 2. B. 4. C. 6.

16. How much should the woman pay for the three-room flat
every month?
A. 400 yuan. B. 600 yuan. C. 1,000 yuan,
17. What can we learn from the conversation?
A. You can take the lift at 12:00 pm in the building.
B. You can’t take the lift at 6:00 am in the building.
C. The three-room {lat is on the 8th floor.
% 10 B EEF 18 £ 20 M,
18. What was wrong with Mrs. Jenkins?
A. Something was wrong with her heart.
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B. Something was wrong with her back.
C. Something was wrong with her foot.
19. What did the doctor do at first?
A. He listened to her voice. B. He listened to her heart.
C. He asked her to stop smoking.
20. What does Mrs. Jenkins like to drink?
A, Tea. B. Coffee. C. Water,
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1. A. 20 people went to the party.

B. 30 people went to the party.
C. 40 people went to the party.

2. A. 1 received a long letter from William.
B. I have just received William’s letter.
C. I haven't heard from William for a long time.

3. A. Tom answered one question.

B. Tom answered two questions.

C. Tom answered three questions.
4. A, Tt arrived on Wednesday.

B. It arrived on Monday.

C. It arrived on Saturday.

5. A. He only attended one meeting.
B. He attended four meetings.

C. He attended eight meetings.
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6. What's their possible relationship?
A. Teacher and student.

B. Classmates.




C. Parent and daughter.

7. How long did the woman spend having lessons?
A. 4 hours. B. 6 hours.
C. 5 hours,
8. What does the woman think about her teachers?
A. She likes all of her teachers.
B. She doesn’t like her art teacher.
C. She doesn’t like her math teacher,
9. Where is her English teacher from?
A. A town in the middle of America.
B. A city in the south of America.
C. A small town in the north of America.
* 10. What's the English teacher’s attitude towards study?
14 A. Take notes in the English class.

. B. Pay more attention to communicating than memorizing.

C. Try to do as much homework as possible to practice.
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11. The students have 4 hours to learn English every morning.

12. When they are free, the students can practice speaking
English.

13. The students have to see a doctor by themselves if they're
ill,

14. The exam for the students will not be very difficult,

15. The students are studying English in Canada,
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1. A. He does not like to get up early,

B. He likes nothing like sleeping.

C. He likes to get up early.

2. A. We lost our way soon after we left here.

B. We got here finally though we had planned to come

sooner.

C. We were not here sooner because we got lost.
3. A. Tom doesn't like Jack.
B. Jack doesn’t like Bill.
C. Bill doesn’t like Tom.
4. A. Jim was tired on Sunday.

B. Jim worked on Sunday.

C. Jim was not tired on Monday.

5. A. Alice saw her friends at the store.
B. Alice didn’t greet her friends at all.
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